
Q.1 एक िनिʮत कूट भाषा मŐ ‘TECHNOLOGY’ को 'NHCETOLOGY’ के ŝप मŐ िलखा जाता है,
‘GENERATION’ को ‘RENEGATION’ के ŝप मŐ िलखा जाता है। उसी भाषा मŐ ‘APOCALYPSE’ को
िकस Ůकार िलखा जाएगा?

Ans 1. ACOPALYPSE

2. ACPOALYPSE

3. AOCPALYPSE

4. ACOAPLYPSE

Question ID : 26433068238

Status : Answered

Chosen Option : 1

Q.2 एक िनिʮत कूट भाषा मŐ, 'ABROAD' को 'DFORDH' िलखा जाता है और 'ACCESS' को 'DGECVW'
िलखा जाता है। उस भाषा मŐ 'AGENCY' को कैसे िलखा जाएगा?

Ans 1. DJNEFB

2. DKNEGC

3. DKNEFC

4. EKNEFC

Question ID : 26433066022

Status : Answered

Chosen Option : 3

Q.3

Ans 1. 2

2. 4

3. 1

4. 5

Question ID : 26433081531

Status : Answered

Chosen Option : 4
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Q.4 A – B का अथŊ है िक ‘A , B की माता है’
A * B का अथŊ है िक ‘A , B की बहन है’
A % B का अथŊ है िक ‘A , B का पित है’
A $ B का अथŊ है िक ‘A , B का पुũ है’
यिद P – Q – R * S $ T है, तो P का T से Ɛा संबंध है?

Ans 1. भाभी

2. सास

3. बहन

4. माता

Question ID : 26433059899

Status : Answered

Chosen Option : 2

Q.5 उस िवकʙका चयन करŐ जो पांचवी ं संƥा से उसी Ůकार संबंिधत है िजस Ůकार दूसरी संƥा पहली
संƥा से संबंिधत है और चौथी संƥा तीसरी संƥा से संबंिधत है।
7 : 13 :: 16 : 31 :: 46 : ?

Ans 1. 97

2. 83

3. 81

4. 91

Question ID : 26433067649

Status : Answered

Chosen Option : 4

Q.6 संƥाओं के िवषम समूह का चयन करŐ। (ȯान दŐ: संƥाओं को उनके संघटक अंको ं मŐ िवभािजत िकए
िबना, पूणŊ संƥाओं पर संिŢयाएँ िन˃ािदत की जानी चािहए। उदाहरण "13" - 13 पर संिŢयाएँ जैसे
िक 13 मŐ जोड़ना/घटाना/गुणा करना आिद िकया जा सकता है। 13 को 1 और 3 मŐ तोड़ना और और
िफर 1 और 3 पर गिणतीय संिŢयाएँ करने की अनुमित नही ं है)

Ans 1. 16 – 251

2. 17 – 284

3. 15 – 220

4. 14 – 193

Question ID : 264330105089

Status : Answered

Chosen Option : 4

Q.7 उस समुǄय का चयन कीिजए िजसमŐ संƥाएं आपस मŐ उसी Ůकार संबंिधत हœ िजस Ůकार िनɻिलİखत
समुǄयों की संƥाएं आपस मŐ संबंिधत हœ।
(नोट: संƥाओं को उसके घटक अंकों मŐ िवभािजत िकए िबना, पूणŊ संƥाओं पर गिणतीय संिŢयाएं की
जानी चािहए। उदाहरण के िलए 13 - गिणतीय संिŢयाएं जैसे िक जोड़ना/घटाना/गुणा करना इ̝यािद 13
मŐ िकया जा सकता है। 13 को 1 और 3 मŐ िवभािजत करना और िफर 1 और 3 पर गिणतीय संिŢयाएं
करने की अनुमित नही ं है।)
(7, 4, 56)
(8, 3, 48)

Ans 1. (9, 10, 180)

2. (90, 3, 400)

3. (96, 42, 12)

4. (87, 4, 128)

Question ID : 26433079128

Status : Answered

Chosen Option : 1



Q.8 उस समुǄय का चयन कीिजए िजसमŐ संƥाएं आपस मŐ उसी Ůकार संबंिधत हœ िजस Ůकार िनɻिलİखत
समुǄयों की संƥाएं आपस मŐ संबंिधत हœ।
(नोट: संƥाओं को उसके घटक अंकों मŐ िवभािजत िकए िबना, पूणŊ संƥाओं पर गिणतीय संिŢयाएं की
जानी चािहए। उदाहरण के िलए 13 - गिणतीय संिŢयाएं जैसे िक जोड़ना/घटाना/गुणा करना इ̝यािद 13
मŐ िकया जा सकता है। 13 को 1 और 3 मŐ िवभािजत करना और िफर 1 और 3 पर गिणतीय संिŢयाएं
करने की अनुमित नही ं है।)
(9, 16, 5)
(7, 9, 4)

Ans 1. (14, 100, 5)

2. (12, 66, 4)

3. (14, 64, 7)

4. (11, 36, 5)

Question ID : 26433070235

Status :
Not Attempted and
Marked For Review

Chosen Option : --

Q.9

Ans

1. 

2. 

3. 

4. 

Question ID : 26433068470

Status : Answered

Chosen Option : 2



Q.10 िनɻिलİखत Ůʲ मŐ दी गई ŵंृखला मŐ से लुɑ अंक ǒात कीिजए।
5103, 1701, 567, ?, 63, 21

Ans 1. 189

2. 169

3. 170

4. 265

Question ID : 264330105022

Status : Not Answered

Chosen Option : --

Q.11

Ans
1. 

2. 

3. 

4. 

Question ID : 26433068196

Status : Answered

Chosen Option : 1

Q.12 एक अनुŢम िदया गया है, िजसमŐ से एक पद लुɑ है। िदए गए िवकʙों मŐ से वह सही िवकʙ चुिनए, जो
अनुŢम को पूरा करे।
ABCD, FVJV, KPQN, PJXF, ?

Ans 1. EQRT

2. RQTS

3. UDEX

4. UDQE

Question ID : 264330104826

Status : Answered

Chosen Option : 3



Q.13 तीन कथनऔर उनके बाद तीन िनʺषŊ Ţमांक I, II और III िदए गए हœ। कथनो ं को सȑ मानते Šए, भले
ही वे सामाɊ ŝप से ǒात तȚों से िभɄ Ůतीत होते हो,ं िनणŊय करŐ िक कौन सा/से िनʺषŊ तािकŊ क ŝप
से कथनो ं का अनुसरण करता/करते है/हœ।

कथन:
कुछ बोतलŐ तौिलया हœ।
कोई तौिलया तिकया नही ं है।
सभी बोतलŐ कोट हœ।

िनʺषŊ:
I. कुछ कोट तौिलया हœ।
II. कोई कोट तौिलया नही ं है।
III. कुछ बोतलŐ तिकए हœ।

Ans 1. केवल िनʺषŊ II अनुसरण करता है।

2. िनʺषŊ I और III दोनों अनुसरण करते हœ।

3. केवल िनʺषŊ I अनुसरण करता है।

4. या तो केवल िनʺषŊ I या केवल िनʺषŊ II अनुसरण करता है।

Question ID : 26433069187

Status : Answered

Chosen Option : 3

Q.14 यिद L × M का अथŊ है िक L, M की माता है, L + M का अथŊ है िक L, M का िपता है, L ÷ M का अथŊ है
िक L, M की बहन है, तो िनɻिलİखत मŐ से कौन सा ʩंजक यह िनŝिपत करता है, िक P, R का िपता
है?

Ans 1. Q + P ÷ R

2. P + Q ÷ R

3. P + Q × R

4. P ÷ R + Q

Question ID : 264330104966

Status : Answered

Chosen Option : 2

Q.15 नीचे िदए गए Ůʲ मŐ कुछ कथनऔर उनके बाद उन कथनो ं पर आधाįरत कुछ िनʺषŊ िदए गए हœ। िदए
गए कथनो ं को सही मानŐ, भले ही उनमŐ सामाɊतः ǒात तȚों से िभɄता हो। सभी िनʺषŊ पढ़Ő और िफर
िनधाŊįरत करŐ िक कौन से िनʺषŊ, िदए गए कथनो ं का तािकŊ क ŝप से अनुसरण करते हœ।
कथन:
I. सभी R, P हœ।
II. सभी R, Q हœ।
िनʺषŊ:
I. कोई P, Q नही ं है।
II. कोई R, P नही ं है।

Ans 1. I तथा II दोनों िनʺषŊ अनुसरण करते हœ

2. केवल िनʺषŊ I अनुसरण करता है

3. केवल िनʺषŊ II अनुसरण करता है

4. कोई भी िनʺषŊ अनुसरण नही ं करता है

Question ID : 264330104918

Status : Answered

Chosen Option : 4



Q.16 िनɻिलİखत मŐ से कौन सा अƗर-समूह दी गई Şंखला मŐ Ůʲिच˥ (?) के ̾थान पर आएगा?
ACFD, CFHG, ?, GLLM, IONP

Ans 1. FIJJ

2. EIJK

3. EJJK

4. EIJJ

Question ID : 26433059861

Status : Answered

Chosen Option : 4

Q.17 िदए गए शɨों को अंŤेजी शɨकोश के अनुसार ʩवİ̾थत करने के पʮात्, कौन सा शɨ ‘तीसरे’ ̾थान
पर आएगा?
1. Chocolate
2. Chocoholic
3. Chocolaty
4. Chocolatier
5. Chock

Ans 1. Chock

2. Chocolatier

3. Chocoholic

4. Chocolate

Question ID : 264330104907

Status : Answered

Chosen Option : 2

Q.18 उस िवकʙका चयन करŐ , जो तीसरे शɨ से उसी Ůकार संबंिधत है, िजस Ůकार दूसरा शɨ पहले शɨ
से संबंिधत है।
(शɨों को अथŊपूणŊ अँŤेजी/िहंदी शɨों के ŝप मŐ माना जाना चािहए और इɎŐ शɨ मŐ अƗरो ं की संƥा /
ʩंजनो ं की संƥा / ˢरों की संƥा के आधार पर एक दूसरे से संबȠ नही ं िकया जाना चािहए।)
ˋूल : िवȨाथŎ :: अ˙ताल : ?

Ans 1. बीमारी

2. मरीज

3. डॉƃर

4. नसŊ

Question ID : 26433056809

Status : Answered

Chosen Option : 2

Q.19 िदए गए दो िच˥ो ं तथा संƥाओं को आपस मŐ पर˙र बदलने पर, िनɻिलİखत मŐ से कौन सा समीकरण
सही हो जाएगा?
+ तथा –, 7 तथा 6

Ans 1. 7 – 6 × 3 + 4 ÷ 1 = 8

2. 8 × 7 + 5 ÷ 1 – 6 = 17

3. 4 × 7 + 6 – 3 ÷ 1 = 20

4. 7 × 2 – 6 + 4 ÷ 2 = 13

Question ID : 264330105132

Status : Answered

Chosen Option : 3



Q.20 िदए गए समीकरण मŐ # िच˥ो ं को Ţिमक ŝप से बदलने और समीकरण को संतुिलत करने के िलए
िन̱निलİखत िवक̵पो ं मŐ से गिणतीय िच˥ो ं के सही संयोजन का चयन कीिजए।
[{(44 # 38) # (2 # 5)} # (4 # 2)] # 5 # 10

Ans 1. ̶ , +, ×, ×, ÷, ×, =

2. ̶ , +, ×, ÷, ×, ×, =

3. ×,  ̶ , +, ×, ÷, ×, =

4. ×, ÷, ×, ×, −, +, =

Question ID : 26433087057

Status : Not Answered

Chosen Option : --

Q.21 गिणतीय िच˥ो ं के उस सही संयोजन का चयन करŐ िजसे Ţिमक ŝप से * िच˥ो ं के ̾थान पर रखने पर
िदया गया समीकरण संतुिलत हो जाएगा।
25 * 2 * 220 * 11 * 43

Ans 1. +, −, ×, =

2. −, +, ÷, =

3. +, +, ÷, =

4. +, −, ÷, =

Question ID : 26433068568

Status : Answered

Chosen Option : 2

Q.22 िनɻिलİखत चार अƗर-संयोजनो ं मŐ से तीन िकसी िनिʮत तरीके से समान हœ और इस Ůकार एक समूह
बनाते हœ। कौन सा अƗर-संयोजन उस समूह से संबंिधत नही ं है?

Ans 1. XZCA

2. UWFD

3. PRKI

4. JFOQ

Question ID : 26433081502

Status : Answered

Chosen Option : 4



Q.23

Ans

1. 

2. 

3. 

4. 

Question ID : 26433067437

Status : Answered

Chosen Option : 2

Q.24 उस िवकʙका चयन कीिजए जो तीसरे शɨ से उसी Ůकार संबंिधत है िजस Ůकार दूसरा शɨ पहले
शɨ से संबंिधत है। (शɨों को अथŊपूणŊ िहंदी शɨों के ŝप मŐ माना जाना चािहए और शɨ मŐ
अƗरो/ंʩंजनो/ंˢरों की संƥा के आधार पर एक दूसरे से संबंिधत नही ं िकया जाना चािहए)
पौधे : वन˙ित िवǒानी :: जंतु : ?

Ans 1. भूवैǒािनक

2. केिम̾ट

3. पुरातȕिवद

4. जीव िवǒानी

Question ID : 26433067813

Status : Answered

Chosen Option : 4



Q.25

Ans

1. 

2. 

3. 

4. 

Question ID : 26433080512

Status : Answered

Chosen Option : 2

Q.1 िनɻिलİखत मŐ से कौन-सी लोक नृȑ शैली गुजरात राǛ से संबंिधत नही ं है?

Ans 1. होजािगरी

2. गरबा

3. डांिडया

4. भवाई

Question ID : 26433054318

Status : Answered

Chosen Option : 4

Q.2 िनɻिलİखत मŐ से िकस देश ने 2010 मŐ Ťीˆकालीन युवा ओलंिपक खेलो ं के पहले संˋरण की
मेजबानी की थी?

Ans 1. चीन

2. अजŒटीना

3. सेनेगल

4. िसंगापुर

Question ID : 26433059412

Status : Not Answered

Chosen Option : --

Section : General Awareness



Q.3 'करो या मरो' का नारा िनɻिलİखत मŐ से िकसˢतंũता सेनानी ने िदया है?

Ans 1. सरदार वʟभ भाई पटेल

2. महाȏा गाँधी

3. मोतीलाल नेहŝ

4. बाल गंगाधर ितलक

Question ID : 264330105567

Status : Answered

Chosen Option : 2

Q.4 मैकमोहन रेखा एक रेखा है जो चीन और भारत के िकस राǛ को अलग करती है?

Ans 1. जʃू तथा कʳीर

2. उȅराखंड

3. अŝणाचल Ůदेश

4. िसİſम

Question ID : 264330105518

Status : Answered

Chosen Option : 3

Q.5 वैǒािनकऔरऔȨोिगक अनुसंधान पįरषद की पहली मिहला महािनदेशक कौन बनी हœ?
Ans 1. नʟाथɾी कलाइसेʢी

2. िवनोद अŤवाल

3. संजय वमाŊ

4. Ůकाश चंद

Question ID : 264330105342

Status : Answered

Chosen Option : 1

Q.6 ūौपदी मुमूŊ को भारत का _______ रा Ō̓ पित चुना गया था।
Ans 1. 15वां

2. 18वां

3. 17वां

4. 16वां

Question ID : 264330105236

Status : Answered

Chosen Option : 1

Q.7 पेįरस इंिडयन सोसाइटी ______ मŐ ̾थािपत एक भारतीय रा Ō̓ वादी संगठन था।
Ans 1. 1900 

2. 1909 

3. 1905 

4. 1907 

Question ID : 26433085281

Status : Not Answered

Chosen Option : --



Q.8 िनɻिलİखत मŐ से िकस Ůमुख भारतीय फसल को उǄ तापमान (25°C से ऊपर) और उǄआūŊता की
आवʴकता होती है?

Ans 1. गेšँ

2. मटर

3. चावल

4. चना

Question ID : 26433092869

Status : Answered

Chosen Option : 3

Q.9 1610 के आरंभ मŐ, िकसने अपने नए आिवʺृत दूरबीन से पता लगाया िक बृह˙ित के चार उपŤह
(चंūमा) हœ?

Ans 1. टाइको Űाहे

2. जोहाɌ केɘर

3. साइमन माįरयस

4. गैलीिलयो गैिलली

Question ID : 26433092178

Status : Not Answered

Chosen Option : --

Q.10 िनɻिलİखत मŐ से िकस धातु का उपयोग हड़ɔा के नगरो ं मŐ हिथयार औरऔजार बनाने के िलए िकया
जाता था?

Ans 1. सोना

2. लोहा

3. चाँदी

4. ताँबा

Question ID : 264330105172

Status : Answered

Chosen Option : 4

Q.11 Ƒोरेला िकस पोषक तȕ से भरपूर होता है?

Ans 1. वसा

2. काबŖहाइडŌ ेट

3. Ůोटीन

4. रफेज

Question ID : 26433086747

Status : Answered

Chosen Option : 3

Q.12 िनɻिलİखत मŐ से कौन सा हįरत Ţांित का लƙ नही ं है?

Ans 1. खाȨाɄ उȋादन मŐ वृİȠ

2. फसल उȋादकता मŐ वृİȠ

3. िसंचाई का िवˑार

4. उवŊरकों का Ůयोग

Question ID : 26433064873

Status : Answered

Chosen Option : 3



Q.13 संघ की कायŊकारी शİƅ ______ मŐ िनिहत है।
Ans 1. Ůधानमंũी की अȯƗता मŐ मंिũपįरषद

2. रा Ō̓ पित

3. Ůधानमंũी

4. सवŖǄ Ɋायालय के मुƥ Ɋायाधीश

Question ID : 26433074846

Status : Answered

Chosen Option : 2

Q.14 अहमदनगर को अंततः वषŊ _____ मŐ मुगलो ं Ȫारा अपने राǛ मŐ िमला िलया गया था।
Ans 1. 1630

2. 1627

3. 1632

4. 1635

Question ID : 264330105437

Status : Not Answered

Chosen Option : --

Q.15 1655 मŐ शिन के वलयो ं(rings of Saturn) का Ťह के पįरत: एक िडˋ के ŝप मŐ सटीक वणŊन करने
वाला पहला ʩİƅ कौन था?

Ans 1. िजयोवानी कैिसनी

2. िŢİːयान ह्यूजŐस

3. िहदेकी युकावा

4. गैलीिलयो गैलीली

Question ID : 26433064060

Status : Answered

Chosen Option : 4

Q.16 िवद्युत ऊजाŊ की ʩावसाियक इकाईƐा है?

Ans 1. वॉट-घंटा

2. वॉट Ůित घंटा

3. िकलोवॉट घंटा

4. िकलोवॉट Ůित घंटा

Question ID : 26433066457

Status : Answered

Chosen Option : 3

Q.17 भगवान कृˁ का जɉोȖव िकस नाम से ŮिसȠ है?

Ans 1. महाʼमी

2. जɉाʼमी

3. महानवमी

4. अƗय तृतीया

Question ID : 26433074086

Status : Answered

Chosen Option : 2



Q.18 ŜƏणी देवी अŜंडेल िकस भारतीय शा˓ीय नृȑ की ŮिसȠ नृȑांगना थी?ं
Ans 1. कथकली

2. कथक

3. भरतनाǨम

4. मोिहनीअǥम

Question ID : 26433064382

Status : Not Answered

Chosen Option : --

Q.19 वेɼित िचɄा सȑम को 1998 मŐ पȧ भूषण से सʃािनत िकया गया था। वह एक _______ नतŊक थे।
Ans 1. कथकली

2. मिणपुरी

3. कुिचपुड़ी

4. कथक

Question ID : 26433090696

Status : Not Answered

Chosen Option : --

Q.20 जून 2022 मŐ, _________ के कौशल ŮिशƗण के िलए NIPUN योजना शुŝ की गई थी।
Ans 1. िकसानों

2. िनमाŊण ŵिमकों

3. सरकारी िशƗक

4. िचिकȖकों

Question ID : 264330105307

Status : Answered

Chosen Option : 2

Q.21 िनɻिलİखत मŐ से Ɛा ˢयं सहायता समूह की एक िवशेषता है?

Ans 1. इन समूहों को वािणİǛक बœकों के ŝप मŐ वगŎकृत िकया गया है।

2. ɯाज दरŐ आम तौर पर अिधक होती हœ।

3. समूह ऋण वसूली का ȯान रखता है।

4. संपाि Ŋ̫क की आवʴकता होती है।

Question ID : 264330105369

Status : Not Answered

Chosen Option : --

Q.22 ______ - समय Ťाफ िकसी वˑु की चाल दशाŊता है।
Ans 1. वेग

2. दूरी

3. िव̾थापन

4. ȕरण

Question ID : 264330105466

Status : Answered

Chosen Option : 2



Q.23 भारत मŐ, अƃूबर और नवंबर के महीने िनɻिलİखत मŐ से िकस मौसम के अंतगŊत आते हœ?
Ans 1. शीत

2. Ťीˆ

3. शरद

4. वषाŊ

Question ID : 264330105632

Status : Answered

Chosen Option : 1

Q.24 भारत का संिवधान सरकार की _______ Ůणाली के साथ एक संŮभु समाजवादी धमŊिनरपेƗ
लोकतांिũक गणराǛ है।

Ans 1. राजतंũीय

2. संसदीय

3. रा̽टŌ पतीय

4. एकाȏक

Question ID : 26433086763

Status : Answered

Chosen Option : 2

Q.25 िŢकेट मŐ ːंप की ऊंचाई _________ होती है।
Ans 1. 22 इंच

2. 28 इंच

3. 20 इंच

4. 25 इंच

Question ID : 26433071378

Status : Answered

Chosen Option : 1

Q.1 यिद sec 3θ = cosec (4θ - 15˚) है, तो tan 3θ का मान ǒात कीिजए।
Ans 1. 

2. 

3. 

4. 

Question ID : 26433061771

Status :
Not Attempted and
Marked For Review

Chosen Option : --

Section : Quantitative Aptitude



Q.2 नीचे दी गई तािलका 7 वˑुओ के अंिकत मूʞऔर छूट के मूʞ को दशाŊती है।

सभी वˑुओ का औसत अंिकत मूʞƐा है?

Ans 1. 824.12

2. 814.12

3. 742.85

4. 704.15

Question ID : 264330105739

Status : Answered

Chosen Option : 3

Q.3

Ans 1. 18

2. 20

3. 16

4. 14

Question ID : 26433074314

Status :
Not Attempted and
Marked For Review

Chosen Option : --

Q.4

Ans
1. 

2. 

3. 

4. 

Question ID : 26433079792

Status : Answered

Chosen Option : 1



Q.5 ∆ABC ~ ∆DEF इस Ůकार है िक AB = 9.1 cm और DE = 6.5 cm। यिद ∆DEF का पįरमाप = 25
cm, तो ∆ABC का पįरमाप ________ है।

Ans 1. 45 cm

2. 35 cm

3. 40 cm

4. 30 cm

Question ID : 26433082108

Status : Answered

Chosen Option : 2

Q.6 एक अधŊगोले की िũǛा 6.3 से.मी. है। इसका आयतनƐा होगा?
Ans 1. 523.90 से.मी.3

2. 572.80 से.मी.3

3. 643.50 से.मी.3

4. 353.38 से.मी.3

Question ID : 264330105851

Status : Answered

Chosen Option : 1

Q.7 246837 मŐ से िकतना घटाया जाए िक यह 13 से िवभाǛ हो जाएगा?
Ans 1.  3

2.  6

3.  4

4.  5

Question ID : 26433075271

Status : Answered

Chosen Option : 2

Q.8 ΔPQR एक समिȪबाŠ िũभुज है और PQ = PR = 2a इकाई, QR = a इकाई है। PX ⊥ QR खी ंͤिचए
और PX की लंबाई ǒात कीिजए।

Ans
1. 

2. 

3. 

4. 

Question ID : 26433075363

Status : Not Answered

Chosen Option : --



Q.9 एक दौड़ मŐ, एक टीम मŐ 4 सद˟ हœ। Ůȑेक सद˟को एक के बाद एक 5 km की दूरी तय करनी है।
यिद कुल 30 िमनट का समय लगा है, तो औसत चालƐा होगी?

Ans
1. 

2. 

3. 

4. 

Question ID : 26433071301

Status : Not Answered

Chosen Option : --

Q.10

Ans
1. 

2. 

3. 

4. 

Question ID : 26433075844

Status : Not Answered

Chosen Option : --

Q.11 एक ʩİƅ ने B को 3 वषŘ के िलए 23000 Ŝपये तथा C को 4 वषŘ के िलए 19000 Ŝपये ɯाज की
समान दर से साधारण ɯाज पर उधार िदए तथा दोनो ं से कुल 3625 Ŝपये ɯाज के ŝप मŐ Ůाɑ िकए।
ɯाज की वािषŊक दर Ɛा है?

Ans 1. 1.5 Ůितशत

2. 3 Ůितशत

3. 2.5 Ůितशत

4. 4 Ůितशत

Question ID : 264330105678

Status : Answered

Chosen Option : 3



Q.12

Ans 1. 60.62%

2. 62.60%

3. 65.32%

4. 38.50%

Question ID : 26433080347

Status :
Not Attempted and
Marked For Review

Chosen Option : --

Q.13

Ans 1. −2

2. 2

3. 1

4. 0

Question ID : 26433075842

Status : Answered

Chosen Option : 2



Q.14

Ans
1. 

2. 

3. 

4. 

Question ID : 26433066266

Status : Not Answered

Chosen Option : --

Q.15 रोहन ने Rs.55,000 का सामान अंिकत को 15% ʩापाįरक छूट पर बेचा। अंिकत ने रोहन को िकतना
पैसा िदया?

Ans 1. Rs.46,750

2. Rs.22,550

3. Rs.8,250

4. Rs.12,550

Question ID : 26433075946

Status : Answered

Chosen Option : 1

Q.16 वृȅ के िकसी िदए गए ˙शŊरेखा के समांतर ˙शŊ रेखाओं की संƥा िकतनी होती है?

Ans 1. 1

2. 4

3. 2

4. 3

Question ID : 26433075827

Status : Answered

Chosen Option : 1

Q.17 रोहन ने अंŤेजी मŐ िवǒान से दुगुने अंक Ůाɑ िकए। अंŤेजी, िवǒान और गिणत मŐ उसके कुल अंक 126
हœ। यिद अंŤेजी और गिणत मŐ उसके अंकों का अनुपात 2:3 है, तो अंŤेजी मŐ उसके अंक िकतने हœ?

Ans 1. 42

2. 21

3. 20

4. 63

Question ID : 26433072970

Status : Answered

Chosen Option : 1



Q.18 िकसी ʩİƅ के पास मौजूद उसकी कुल रािश का 20% खो जाने और शेष रािश का 85% खचŊ करने के
बाद Rs.120 बचते हœ। Ůारंभ मŐ उसके पास िकतनी रािश थी?

Ans 1. Rs.500

2. Rs.1,200

3. Rs.1,000

4. Rs.800

Question ID : 26433063455

Status : Answered

Chosen Option : 3

Q.19 िबंदु H से एक रेलगाड़ी 6:30 अपराहन पर K की ओर 90 िक.मी./घंटा की चाल से चलना आरंभ करती है
। एक अɊ रेलगाड़ी 7:30 अपराहन पर िबंदु K से िबंदु H की ओर 72 िक.मी./घंटा की चाल से चलना
आरंभ करती है। दोनो ं रेलगािड़याँ िबंदु J पर 11:30 अपराहन पर िमलती है। HJ तथा KJ दूरी का
अनुपात Ɛा है?

Ans 1. 5 : 16

2. 25 : 16

3. 36 : 25

4. 31 : 19

Question ID : 264330105701

Status : Not Answered

Chosen Option : --

Q.20

Ans 1. 5

2. 6

3. 4

4. 8

Question ID : 26433066265

Status : Not Answered

Chosen Option : --

Q.21 वगŊ का िवकणŊ 8√2 cm है। एक दूसरे ऐसे वगŊ का िवकणŊ ǒात कीिजए िजसका Ɨेũफल पहले वगŊ के
Ɨेũफल का ितगुना है।

Ans 1. 

2. 

3. 

4. 

Question ID : 26433065012

Status : Answered

Chosen Option : 4



Q.22 एक खेप का तीन-चौथाई 8% के लाभ पर और शेष 4% की हािन पर बेचा गया था। यिद कुल िमलाकर
Rs.600 का लाभ Šआ, तो खेप का मूʞ ǒात कीिजए।

Ans 1. Rs.15,000

2. Rs.12,000

3. Rs.18,000

4. Rs.6,000

Question ID : 26433065066

Status : Not Answered

Chosen Option : --

Q.23 दो संƥाओं का योग 18 है और उनका महȅम समापवतŊक (HCF) और लघुȅम समापवȑŊ (LCM)
Ţमशः 3 और 54 है। उनके ʩुǿमो ं का योग Ɛा होगा?

Ans

1. 

2. 

3. 

4. 

Question ID : 26433079828

Status : Not Answered

Chosen Option : --

Q.24 cos2 15° का मान Ɛा है?

Ans

1. 

2. 

3. 

4. 

Question ID : 264330105893

Status : Answered

Chosen Option : 2



Q.25 नीचे दी गई तािलका पाँच दुकानदारो Ȫारा बेची गई कैलकुलेटर की संƥा को दशाŊती है।

S5 Ȫारा बेचे गए कैलकुलेटर की संƥा, S1 Ȫारा बेचे गए कैलकुलेटर की संƥा का िकतना Ůितशत है?

Ans 1. 150 Ůितशत

2. 200 Ůितशत

3. 50 Ůितशत

4. 100 Ůितशत

Question ID : 264330105719

Status : Answered

Chosen Option : 2

Q.1 Select the sentence which does NOT have a spelling error.

Ans 1. The art and science of designing buildings is called archtiecture.

2. The art and science of designing buildings is called architecture.

3. The art and science of designing buildings is called architecchure.

4. The art and science of designing buildings is called architectrue.

Question ID : 26433060924

Status : Answered

Chosen Option : 2

Q.2 Select the option that can be used as a one-word substitute for the given group of
words.

A group of stars having a particular shape

Ans 1. Orbit

2. Galaxy

3. Planet

4. Constellation

Question ID : 26433072802

Status : Answered

Chosen Option : 2

Q.3 Select the option that expresses the given sentence in passive voice.

Did Rani call you?

Ans 1. Are you called by Rani?

2. Was you called by Rani?

3. Were you called by Rani?

4. Did you called by Rani?

Question ID : 26433093526

Status : Answered

Chosen Option : 4

Section : English Comprehension



Q.4 Parts of the following sentence have been given as options. Select the option that
contains a grammatical error. If you don’t find any error, mark ‘No error’ as your
answer.

I am having trouble / deciding in / a gift for them. / no error

Ans 1. deciding in

2. I am having trouble  

3. No error

4. a gift for them. 

Question ID : 26433073832

Status : Not Answered

Chosen Option : --

Q.5 Select the correct direct form of the given sentence.
Professor told me that I could not rescue myself from that bait.

Ans 1. Professor says to me, “You cannot rescue yourself from this bait.”

2. Professor said to us, “You cannot rescue yourself from this bait.”

3. Professor said to me, “You have not rescued yourself from this bait.”

4. Professor said to me, “You cannot rescue yourself from this bait.”

Question ID : 264330104644

Status : Answered

Chosen Option : 4

Q.6 Select the most appropriate synonym of the given word.

Inherent

Ans 1. Inborn  

2. Increase  

3. Conclusion  

4. Superficial  

Question ID : 26433072193

Status : Not Answered

Chosen Option : --

Q.7 Select the INCORRECTLY spelt word in the following sentence.
Rather than being aggressive, you should be accomodative, magnanimous and
benevolent in nature.

Ans 1. aggressive

2. accomodative

3. magnanimous

4. benevolent

Question ID : 26433058611

Status : Answered

Chosen Option : 3



Q.8 Select the option that can be used as a one-word substitute for the given group of
words.

A small island

Ans 1. Closet

2. Islet

3. Lagoon

4. Isthmus

Question ID : 26433070711

Status : Answered

Chosen Option : 3

Q.9 Select the option that can be used as a one-word substitute for the given group of
words.

A huge building with a spacious area to house aircrafts.

Ans 1. Hanger

2. House

3. Hangar

4. Airport

Question ID : 26433060104

Status : Answered

Chosen Option : 3

Q.10 Select the most appropriate synonym of the given word.
Belief

Ans 1. Promise

2. Faith 

3. System

4. Religion

Question ID : 26433070621

Status : Answered

Chosen Option : 2

Q.11 Select the most appropriate ANTONYM of the word leisure from the given sentence:
After my working hours, I use my leisure time to take care of my flower garden, dig my
restricted land, sow seeds and water the plants for proper growth and development.

Ans 1. development

2. working

3. growth 

4.  restricted 

Question ID : 26433058562

Status : Not Answered

Chosen Option : --



Q.12 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
Both Reeta and Ronika / has won / the dance competition / this year.

Ans 1. this year.

2. the dance competition

3. Both Reeta and Ronika

4. has won

Question ID : 26433086309

Status : Answered

Chosen Option : 4

Q.13 Rearrange the parts of the sentence in correct order.
The decision not
P. to include any kind of wealth or
Q. crisis, has proven controversial
R. income tax, which would be the fairer option
S. for solving the social care funding

Ans 1. PRSQ

2. QPRS

3. RSPQ

4. SQPR

Question ID : 264330104661

Status : Answered

Chosen Option : 2

Q.14 Select the most appropriate idiom that can substitute the italicised words in the given
sentence.

The world needs a global leader who can hold out a gesture of peace

Ans 1. a grass widow

2. halcyon days

3. an olive branch

4. mother wit

Question ID : 26433060510

Status : Answered

Chosen Option : 2

Q.15 Select the most appropriate option to fill in the blank and complete the collocation.

Always be in ______ with your near and dear ones as life is uncertain and fragile.

Ans 1. communication

2. relation

3. connection

4. touch

Question ID : 26433073567

Status : Answered

Chosen Option : 1



Q.16 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.

I am working hard in order to earn a decent living.

Ans 1. purchase a reputed life

2. No substitution

3. earning a better living

4. buying a decent living

Question ID : 26433087894

Status : Not Answered

Chosen Option : --

Q.17 Select the most appropriate synonym of the given word.

Fatigue

Ans 1. Tiredness

2. Feebleness

3. Effort

4. Loaf

Question ID : 26433071834

Status : Not Answered

Chosen Option : --

Q.18 Select the most appropriate meaning of the underlined idiom that can be substituted in
the following sentence.

The young boy was born with a silver spoon in his mouth.

Ans 1. born with a spoon that was not of gold 

2. born to not so rich parents 

3. born to riches and luxury 

4. born with a spoon stuck in his mouth

Question ID : 26433072226

Status : Not Answered

Chosen Option : --

Q.19 Select the option that expresses the given sentence in passive voice.

The company sold the newly introduced car to the highest bidder.

Ans 1. The newly introduced car sold to the highest bidder by the company.

2. The newly introduced car was sold to the highest bidder by the company.

3. The newly introduced car has sold to the highest bidder by the company.

4. The company sold the newly introduced car to the highest bidder.

Question ID : 26433088946

Status : Answered

Chosen Option : 3



Q.20 Select the most appropriate collocation to substitute the underlined word in the given
sentence.

We congratulated him at his new job. He was delighted.

Ans 1. congratulate him with

2. congratulate him along

3. congratulated him on 

4. congratulate him up

Question ID : 26433072098

Status : Not Answered

Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Human migration may be traced all the way back to the (1)________ of time, and humans
have been on the move ever since. Climate change, war and displacement, economic
considerations, living conditions, family and clan (2)________, and, more recently,
educational possibilities are all reasons for migration. Because there are several reasons for
migration, migration patterns are (3)_________. Potential migrants will not only (4)_________
whether or not to migrate, but also where they will go. Individuals with (5) ________ observed
and unobserved features will make diverse decisions and self-select into specific areas.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number 1.

Ans 1. glimpse

2. break

3. ahead

4. dawn

Question ID : 26433084805

Status : Not Answered

Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Human migration may be traced all the way back to the (1)________ of time, and humans
have been on the move ever since. Climate change, war and displacement, economic
considerations, living conditions, family and clan (2)________, and, more recently,
educational possibilities are all reasons for migration. Because there are several reasons for
migration, migration patterns are (3)_________. Potential migrants will not only (4)_________
whether or not to migrate, but also where they will go. Individuals with (5) ________ observed
and unobserved features will make diverse decisions and self-select into specific areas.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank number 2.

Ans 1. joins

2. chains

3. ties

4. fights

Question ID : 26433084806

Status : Answered

Chosen Option : 2



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Human migration may be traced all the way back to the (1)________ of time, and humans
have been on the move ever since. Climate change, war and displacement, economic
considerations, living conditions, family and clan (2)________, and, more recently,
educational possibilities are all reasons for migration. Because there are several reasons for
migration, migration patterns are (3)_________. Potential migrants will not only (4)_________
whether or not to migrate, but also where they will go. Individuals with (5) ________ observed
and unobserved features will make diverse decisions and self-select into specific areas.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans 1. uniform

2. assorted

3. constant

4. diverse

Question ID : 26433084807

Status : Not Answered

Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Human migration may be traced all the way back to the (1)________ of time, and humans
have been on the move ever since. Climate change, war and displacement, economic
considerations, living conditions, family and clan (2)________, and, more recently,
educational possibilities are all reasons for migration. Because there are several reasons for
migration, migration patterns are (3)_________. Potential migrants will not only (4)_________
whether or not to migrate, but also where they will go. Individuals with (5) ________ observed
and unobserved features will make diverse decisions and self-select into specific areas.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.

Ans 1. certify

2. settle

3. determine

4. induce

Question ID : 26433084808

Status : Not Answered

Chosen Option : --



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Human migration may be traced all the way back to the (1)________ of time, and humans
have been on the move ever since. Climate change, war and displacement, economic
considerations, living conditions, family and clan (2)________, and, more recently,
educational possibilities are all reasons for migration. Because there are several reasons for
migration, migration patterns are (3)_________. Potential migrants will not only (4)_________
whether or not to migrate, but also where they will go. Individuals with (5) ________ observed
and unobserved features will make diverse decisions and self-select into specific areas.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans 1. varying

2. experiencing

3. considering

4. convincing

Question ID : 26433084809

Status : Not Answered

Chosen Option : --


